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   !î¦þy† éôé „þ 

   Unit-I 

1Ð þöëéôéöì„þyöì̃ y ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  [25] 

 ক)  লক কীভাবে সরল ও য ৌগিক ধারণার মবধে পার্থকে কবরন?  

 খ) লবকর মতানুসাবর দ্রবেের প্রকৃগত কী? 

 ি)  অমূতথ সাধারণ অগিত্ব গক সম্ভে? োকথবলর মতানুসাবর সংবেবপ েোখো কর।  

 ঘ)  োকথবলর দর্থবন ঈশ্ববরর উপগিগত গক আেগর্েক? সংবেবপ েোখো কর। 

2Ð þöëéôéöì„þyöì̃ y ~„þ!Ýþþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  [115]  

 ক)  সহজাত ধারণা কী? লক কীভাবে সহজাত ধারণার অগিবত্বর প্রমাণ যদন? S3+12)  

 খ)  যকন োকথবল ‘অগিত্ব প্রতেে গনভথর’ – এই মবতর অেতারণা কবরন? েোখো কর। 

     Unit-II 

3Ð þöëéôéöì„þyöì̃ y ~„þ!Ýþþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  [112] 

 ক)  গহউমবক অনুসরণ কবর, ধারণা গেষবে প্রেন্ধ রচনা কর।  

 খ)  কান্টবক অনুসরণ কবর, সংবেষক ও গেবেষক অেধারবণর মবধে গের্বদ পার্থকে গনরূপণ কবরা। 

4Ð þöëéôéöì„þyöì̃ y ~„þ!Ýþþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  [113] 

 ক)  গহউমবক অনুসরণ কবর, সংর্েোদ গেষবে প্রেন্ধ রচনা কর। 

 খ)  জ্ঞানরাবজে যকাপাগনথকীে গেপ্লে েলবত কী যোঝাে? কান্টবক অনুসরবণ আবলাচনা কর। 

     !î¦þy† éôé … 

     Unit-III 

5Ð þöëéôéöì„þyöì̃ y þþ™y¤‰þ!Ýþþþ ²ÌöìÙÀîû vþz_îû ”yç ƒ  [55] 

 ক)  উদাহরণসহ ‘অর্ো’ র্বের অর্থগুগল যলখ।   

 খ)  েস্তুিত প্রসগির কূটাভাস েলবত কী যোঝ?  

 ি)  সতেসারণী পদ্ধগতর সাহাব ে গনম্নগলগখত  ুগিগুগলর বেধতা ো অবেধতা গেচার কর। (য বকাবনা দুগট) S22.5)    

     অ)  (R v S) ⊃ T 

           T ⊃ (R . S) /  (R . S) ⊃  (R  v S) 
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    আ)   গদ উগ্রপন্থীবদর দাগে মানা হে তাহবল অরাজকতা পুরসৃ্কত হবে।  গদ উগ্রপন্থীবদর দাগে না মানা হে তাহবল 
গনরাপরাধ পণেগিবদর হতো করা হবে। সুতরাং হে অরাজকতা পুরসৃ্কত হবে অর্ো গনরাপরাধ পণেগিবদর 
হতো করা হবে।   

      ই)   গদ গ্রীস তার িণতাগিক প্রগতষ্ঠাবনর র্গি েৃগদ্ধ কবর, তাহবল হাবেগর আরও অগধক স্বাধীন নীগত গ্রহণ 
করবে।  গদ গ্রীস িণতাগিক প্রগতষ্ঠাবনর র্গি েৃগদ্ধ কবর, তাহবল ইতালীে সরকার কম আতগিত যোধ 
করবে। সুতরাং  গদ হাবেগর আরও অগধক স্বাধীন নীগত গ্রহণ কবর তাহবল ইতালীে সরকার কম আতগিত 
যোধ করবে।  

 ঘ) সতেসারণী পদ্ধগতর সাহাব ে গনণথে কবরা গনম্নগলগখত েচনাকারগুগল স্বতঃসতে, স্বতঃগমর্ো অর্ো আপগতক। 
(য বকাবনা একগট) S1×5) 

    অ) (p . q) . (p ⊃ ~ q)  এেং  [(p ⊃ q) ⊃ r ]  [(q ⊃ p) ⊃ r] 

   আ)  p ⊃ [~ p ⊃ (q v ~ q)]  এেং [p v (q . r)]  [(p . q) v (p . r)] 

 ঙ)  সতোবপেক য ৌগিক েচন েলবত কী যোঝাে? উদাহরণসহ আবলাচনা কর। 

  চ)  স্বতঃসতে েচনাকাবরর গেরুবদ্ধ েচনাকার গক? উদাহরণসহ আবলাচনা কর। 

 ছ) লঘূকরণ পদ্ধগতর সাহাব ে গনণথে কবরা গনম্নগলগখত েচনাকারগুগল সমার্থক গকনা। (য বকাবনা দুগট) S22.5) 

    অ) p  q , (p ⊃ q) . (q ⊃ p) 

    আ) p ⊃ q , ~ p v q 

     ই) p ⊃ q , ~ p ⊃ ~ q 

   Unit-IV 

6Ð „þV U.G গনেমগট েোখো কর  S3) 

 …V গনম্নগলগখত  ুগিগুগলর আকারিত বেধতা িঠন কবরা। (য বকাবনা গতনগট)  S34) 

     অ)  J v (~ J . K) 

   J ⊃ L  /   (L . J)  J 

   আ) (U ⊃ V ) . (W ⊃ X) /  (U v W) ⊃ (V v X) 

    ই)  Ms /  (x) (Mx v ~ Mx) 

  ঈ) য বকান েই গচত্তাকষথক হবে যকেল  গদ তা সুগলগখত হে। য বকাবনা েই সুগলগখত হবে যকেল  গদ  তা 
গচত্তাকষথক হে। সুতরাং য বকাবনা েই গচত্তাকষথক এেং সুগলগখত হবে  গদ তা গচত্তাকষথক অর্ো সুগলগখত 
হে। 

7Ð „þV মানক, গ্রাহক ইতোগদ েেেহার কবর গনম্নগলগখত োকেগুগলবক প্রগতকাগেত কবরা। (য বকাবনা দুগট) S2×2) 

    অ)  সকল ছাত্র উপগিত নে।  

    আ) যকান যকান খাদে খাওোর য ািে যকেল  গদ যসগুগল রন্ধনকৃত হে।  

    ই)  যকান িাড়ী নে গনরাপদ  গদ না তাবত যেক র্াবক।  
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খ) সতেমূলে আবরাবপর দ্বারা গনম্নগলগখত  ুগিগুগলবক অবেধ প্রমাণ কবরা। (য বকাবনা দুগট) S2×3) 

     অ)  T  U 

   U  (V . W) 

   V  (T v X) 

   T v X 

      T . X 

 

 

        আ) (x) (Hx ⊃ ~ Ix) 

   (Ǝx) (Jx . ~ Ix) 

      (x)  (Hx ⊃ Jx) 

  ই) (Ǝx) (Jx . Kx)  

   (Ǝx) (Kx . Lx) 

     (Ǝx)  (Lx . Jx) 

    English Version: 

    Group - A 

    Unit-I 

1. Answer any two questions of the following :  [2 × 5] 

 a) How does Locke differ simple ideas from complex?  

 b)  What is the nature of substance, according to Locke?  

 c)  Is the existence of abstract general ideas possible? Explain briefly after Berkeley. 

 d) Is the presence of God necessary in Barkelean philosophy? Explain briefly. 

2. Answer any one questions of the following : [1 × 15] 

 a)  What is the innate idea? How does Locke prove the existence of innate ideas?   (3+12) 

 b)  Why, does Barkley propose ‘esse est percipi.’ – Explain. 

 

      Unit-II 

3. Answer any one questions of the following :  [1 × 12] 

 a)  Write an essay on ideas according to Hume.  

 b)  Make a difference elaborately between synthetic and analytic judgement according to 

Kant. 

4. Answer any one questions of the following :   [1 × 13] 

 a)   Write an essay on scepticism according to Hume. 
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 b)  What is ‘Copernican Revolution’ in epistemology? – Explain after Kant. 

 

      Group - B 

 

      Unit-III 

5. Answer any five questions of the following :  [5 × 5] 

 a)  Explain different meaning of ‘or’ with examples.  

 b)  What do you meant by paradox of material implication?  

 c)  Use truth tables to test the validity or invalidity of the following arguments (any two) : (2 × 2.5)    

    i)  (R v S) ⊃ T 

          T ⊃ (R . S) /  (R . S) ⊃  (R  v S) 

      ii)  If terrorists’ demands are met, then lawlessness will be rewarded. If terrorists’ demands are 

not met, then innocent hostages will be murdered. So either lawlessness will be rewarded or 

innocent hostages will be murdered.  

    iii) If Greece strengthens its democratic institutions, then Hungary will pursue a more 

independent policy. If Greece strengthens its democratic institutions, then the Italian 

government will feel less threatened. Hence, if Hungary pursues a more independent policy, 

then the Italian government will feel less threatened.  

 d)  Use the truth tables to characterize the following statement forms as tautologous, self – 

contradictory or contingent (any one)  (1 × 5) 

     i) (p . q) . (p ⊃ ~ q)  and  [(p ⊃ q) ⊃ r ]  [(q ⊃ p) ⊃ r] 

     ii)  p ⊃ [~ p ⊃ (q v ~ q)]  and  [p v (q . r)]  [(p . q) v (p . r)] 

 e)  What do you meant by truth functional compound proposition? Explain with an example.  

 f)  What is the contradictory form of a tautologous statement? Explain with an example.  

 g)  Determine by the method of resolution whether the following schemata are eqivalant. (any two):(2 × 2.5) 

        i)  p  q , (p ⊃ q) . (q ⊃ p) 

     ii)  p ⊃ q , ~ p v q 

     iii)  p ⊃ q , ~ p ⊃ ~ q 

      Unit-IV 

6. a) Explain the rule of U.G. (3) 

 b)  Construct a formal proof of validity for the following (any three)  (3 × 4)   

       i)  J v (~ J . K) 

         J ⊃ L  /   (L . J)  J 
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         ii)  (U ⊃ V ) . (W ⊃ X) /  (U v W) ⊃ (V v X) 

       iii)  Ms /  (x) (Mx v ~ Mx) 

      iv)  A book is interesting only if it is well written. A book is well written only if it is 

interesting. Therefore, any book is both interesting and well written if it is either 

interesting or well written. 

7. a) Symbolize the following using quantifier, variable, etc. (any two)  (2 × 2) 

          i)  Not all students are present.  

      ii)  Some foods are edible only if they are cooked. 

      iii)  No car is safe unless it has good brakes.  

 b)  Prove the following invalid by the method of assigning truth values (any two) (2 × 3) 

      i)  T  U 

          U  (V . W) 

          V  (T v X) 

          T v X 

       T . X 

     ii)  (x) (Hx ⊃ ~ Ix) 

          (Ǝx) (Jx . ~ Ix) 

             (x)  (Hx ⊃ Jx) 

      iii) (Ǝx) (Jx . Kx)  

          (Ǝx) (Kx . Lx) 

             (Ǝx)  (Lx . Jx) 

———— × ———— 


